






https://xserver.ptvgroup.com/forum/viewforum.php?f=8
https://xserver.ptvgroup.com/forum






























•

•

•

•





Length

NC / SC

Length

Driving time

Initial

Cost value

Temporary 

Cost value

80

70

60
40

60

North = 80 x 1.00+70 = 150

South = 60+40 x 1.00+60 = 160

North = 80 x 1.25+70 = 170

South = 60+40 x 1.25+60 = 170

North = 80 x 1.50+70 = 190

South = 60+40 x 1.50+60 = 180

The „best“ route depends

therefore on the malus value!

approximation formula

OPT x TIME x 10 + (100 - OPT) x DIST

100

OPT = 0  DIST

OPT = 20  2 x TIME + 0.8 x DIST

OPT = 80  8 x TIME + 0.2 x DIST

OPT = 100  10 x TIME

5060

60
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<Algorithm AStarAggressiveness="1.3">

<LevellingScopeByNetworkClass searchSpace="-1"/>

<LevellingScopeByNetworkClass searchSpace="-1"/>

<LevellingScopeByNetworkClass searchSpace="-1"/>

<LevellingScopeByNetworkClass searchSpace="200"/>

<LevellingScopeByNetworkClass searchSpace="50"/>

<LevellingScopeByNetworkClass searchSpace="20"/>

<LevellingScopeByNetworkClass searchSpace="10"/>

<LevellingScopeByNetworkClass searchSpace="10"/>

</Algorithm>

12







13



•



•

•









• 

•











1818

v

t

v

t

v

t

v

t

Layer_030407



19

10:25:30 h

v

t

v

t

v

t

v

t

10:25:30 h

Layer_030407



20

10:27:30 h

v

t

v

t

v

t

v

t

10:27:30 h

Layer_030407



21

10:30:32 h

v

t

v

t

v

t

v

t

10:30:32 h

Layer_030407



22

10:35:46 h

v

t

v

t

v

t

v

t

10:35:46 h

Layer_030407



23

10:48:31 h

v

t

v

t

v

t

v

t

10:48:31 h

Layer_030407



24

11:01:32 h

v

t

v

t

v

t

v

t

11:01:32 h

Layer_030407



25

11:01:32 h

v

t

v

t

v

t

v

t

11:01:32 h

Layer_030407



26

12:25:30 h

v

t

v

t

v

t

v

t

12:25:30 h

Layer_030407



27
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>A* approach with levelling is applicable to prune the search space, 

but no bidirectional search
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<Speed maximumSpeed="80"> 

<SpeedRangeByNetworkClass minimumSpeed=“70" maximumSpeed=“135"/> 

<SpeedRangeByNetworkClass minimumSpeed=“38" maximumSpeed=“122"/> 

<SpeedRangeByNetworkClass minimumSpeed=“30" maximumSpeed=“105"/> 

<SpeedRangeByNetworkClass minimumSpeed=“25" maximumSpeed=“100"/>

<SpeedRangeByNetworkClass minimumSpeed=“20" maximumSpeed=“95"/> 

<SpeedRangeByNetworkClass minimumSpeed=“10" maximumSpeed=“50"/> 

<SpeedRangeByNetworkClass minimumSpeed="5" maximumSpeed=“20"/> 

<SpeedRangeByNetworkClass minimumSpeed="4" maximumSpeed="9"/>         

</Speed>
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